GR 12 REVISION:  2/3D TRIGONOMETRY
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In the diagram PQ s a vertical building.

Q. Rand S are points in the same horizontal plane.
The angle of elevation of P, the top of the building,

measured from R, is .
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RQS =30°

QSR =150°-a

Qs=12m "
Shwﬂ\alqn:““"‘z‘i?‘”“'

Hence show that the height PQ of the building is given by 50 a
PQ = 6+ 6V3tana

Hence calculate the value of @ if PQ = 23 m.
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1 Inthe diagram alongside B, D and E are in the R
same horizontal plane. BED = 120°
AB and CD are two vertical towers.
AB = 2CD = 2h meter |
The angle of elevation from Eto Als a.
The angle of elevation from E to Cis (90° — a). B

a  Determine the length BE in terms of h and a.

b Show that the distance between the two towers can be given as:
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c Hence determine the height of the tower CD, rounded to the nearest meter, if & = 42° and

BD=400m.
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B, Cand D are three points in the same horizontal plane and
AB is a vertical pole of length p metres. The angle of elevation of .
Afrom Cis 6 and BCD = 6. Also, CBD = 30°and BD = 8m.

Express CDB in terms of 6.

Hence show that p = 212C019) n
4
In the diagram alongside, AB is a vertical flagpole 5 metres high.
ACan AD are two stays. B, C and D are in the same horizontal plane.
BD =12m, ACD = aand ADC =
S metres
13sin@@+s)
Show that €D = Zin@t)
sina c 5
72 metres
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InAABCAD = ;DB =n;CD =p and BDC=6.
Complete in terms of m, p and 6: Area AADC = -

Show that the area of AABC = %p(m +n)sing .

Ifthe area of AABC = 12,6 cm?; AB =59 cm

and DC = 8,1 cm, calculate the value(s) of 6.

In the diagram, D = 90°, B(D = 6
ACB = a; AB=BCand BD = p units.
Express BC in terms of pand 6.
Determine, without stating reasons, B. C

the size of B, in terms of a.
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Hence , prove that AC =





